Εξισώσεις: Ο άγνωστος είναι παράγοντας γινομένου


	Α
	Β
	Γ
	Δ

	(α) 6  x = 54
	(α) 8 x = 48
	(α) 1x = 7
	(α) 6x = 72

	(β) x  2 = 10
	(β) x 5 = 35
	(β) 3x = 45
	(β) 4x = 520

	(γ) 3  x = 12
	(γ) 2 x = 18
	(γ) 6x = 42
	(γ) 5x = 115

	(δ) 9  x = 45
	(δ) x 7 = 28
	(δ) 12x = 60
	(δ) 8x = 104 

	(ε) x  1 = 3
	(ε) x 7 = 56
	(ε) 7x = 147
	(ε) 7x = 448


1. Λύνω τις παρακάτω εξισώσεις:
2. Λύνω τις παρακάτω εξισώσεις:

	(α) 2x = 30,6
	(γ) 3x = 5,25
	(ε) 0,1x = 0,6
	(ζ) 2,5x = 25

	(β) 5x = 102
	(δ) 9x = 54,9
	(στ) 1,3x = 9,1
	


3. Λύνω τις παρακάτω εξισώσεις:

	(α) 
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	(γ)
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	(δ)
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